CAIIB – caselet based Sample Questions  for CAIIB students

Risk management

Based on the following information, answer following questions

         Rating Migration of Loan Accounts based on their Internal Rating Module of Fair Growth Bank Ltd. between 31.03.2005 to 31.03.2006 are given in the following Tables.

	Last Rating
	No of Accounts
	Present Rating

	
	
	AAA
	AA+
	AA
	A+
	A
	BBB
	C

	AAA
	50
	35
	8
	2
	2
	1
	1
	1


	Last Rating
	No of Accounts
	Present Rating

	
	
	AAA
	AA+
	AA
	A+
	BBB
	C
	Default

	AA+
	50
	5
	30
	7
	5
	1
	1
	1


	Last Rating
	No of Accounts
	Present Rating

	
	
	A+
	A
	BBB
	C
	Default

	A
	100
	10
	80
	6
	2
	2


	Last Rating
	No of Accounts
	Present Rating

	
	
	A+
	BBB
	C
	Default

	BBB
	200
	10
	120
	30
	40


	Last Rating
	No of Accounts
	Present Rating

	
	
	BBB
	C
	Default

	C
	30
	5
	20
	5


Standard Migration pattern for ‘A’ rated  Borrowers shows a default probability of 0.2% and ‘BBB’ rated Borrowers shows a default probability of 20%. Based on the given data, answer the following five questions.

1. Find out the percentage of ‘AAA’ rated borrowers which remained at the same rating level for the observation period.

a)35%

b)50%

c)70%

d)10%

2. At the end of the observation period, the number of ‘AAA’ rated borrowers remained  at -----

a)40

b)55

c)35

d)100

3. The percentage (%) of migration of borrowers from ‘A’ and “BBB” category to default category (category ‘D’) are ----- and ----- respectively.

a)20%, 40%

b)2%, 40%

c)2%, 20%

d)0.2%, 40%

4. Going by the Standard Migration Rating, which type of rating module the regulator will advise the bank to follow?

a)Both ‘A’ and ‘BBB’ rated borrowers

b)only ‘A’ rated borrowers

c)‘BBB’ rated borrowers

d)None of the above

5. At the end of the observation period the number of  default category (‘D’) rated borrowers remained  at ----- .

a)40

b)54

c)133

d)48

Based on the following information, answer questions 6 to 10
         ABC Bank Ltd. analyzed the Operating Profits of five zones for last five years. The Standard Deviation and Standard Deviation to Mean for the five years are given in the following table.

(Rupees in Crore)

	Name of Zones
	Year 1
	Year 2
	Year 3
	Year 4
	Year 5
	Total
	Mean
	Standard Deviation

(S.D.)
	S. D. to Mean

	Ahmedabad

Chennai

Delhi

Kolkata

Mumbai
	10

3

12

6

7
	3

8

8

9

12
	4

1

9

2

5
	8

6

2

3

8
	11

4

4

5

6
	36

22

35

25

38
	7.20

4.40

7.00

5.00

7.60
	3.56

2.70

4.00

2.74

2.70
	0.49

0.61

0.57

0.55

0.36

	Total of Zones
	38
	40
	21
	27
	30
	156
	31.20
	7.85
	


From the above data, answer the following questions assuming that the bank’s credit exposure is at equal levels for each zone:


6. From business risk point of view, the performance of the zone which is subjected to maximum risk exposure appears to be -----.

a)Ahmedabad

b)Mumbai

c)Chennai 

d)Kolkata

7. From business risk point of view, the performance of the zone which is subjected least risk exposure appears to be -----.

a)Delhi

b)Mumbai

c)Chennai 

d)Kolkata

8. The ratio of Standard Deviation to Mean for all zones put together for ABC Bank Limited is -----.

a)7.85

b)31.20

c)0.516

d)0.25

9. Performance of which Zone shows a positive co-relation with the performance of all Zones put together?

a)Chennai

b)Delhi

c)Kolkata

d)Mumbai

10. The Zones having wide variance of results from year to year is -----.

a)Ahmedabad

b)Kolkata

c)Chennai

d)Delhi

Financial management
Answer Question based on the following information

The Variable cost structure of a product manufactured by a company during the year is as under:









(Rs. per Unit)


Material






120


Labour







  30


Overheads






  12

The selling price per unit is Rs.270 and the fixed costs and sales during the current year are Rs.14 lakh and Rs.40.5 lakh respectively.

During the forthcoming year direct workers will be entitled to a wage increase of 10% and the material cost, variable overheads and fixed overhead are expected to increase by 7.5%, 5% and 3% respectively.

11     The total contribution and profit for 15,000 units based on present costs is ----- and ----- respectively.
a) Rs.15,20,000, Rs.1,20,000

b) Rs.15,80,000, Rs.1,80,000

c) Rs.16,00,000, Rs.2,00,000

d) Rs.16,20,000, Rs.2,20,000

12    Find sale price to be fixed in the forthcoming year if the current P/V Ratio is to be maintained.

a) Rs.271.40

b) Rs.281.40

c) Rs.285.40

d) None of these

13  Assuming that selling price per unit will not be increased, ----- would be required to be sold during the  forthcoming year so as to yield the same amount of profit in the current year.

a) 15,621 units

b) 16,431 units

c) 17,421 units

d) 18,321 units

14   Revised Variable cost per unit will be -----

a) Rs.154.50

b) Rs.161.30

c) Rs.174.60

d) Rs.181.50

Answer Question  based on the following information

The Balance Sheet of STV Ltd. is given below:

	LIABILITIES
	Rs. in Lakh
	ASSETS
	Rs. in Lakh

	Equity Capital(Equity Share of Rs. 10 Each)
	3.50
	Plant & Machinery
	7.50

	Preference Capital (10% Preference Shares of Rs. 10 each) 
	2.00
	Goodwill
	1.40

	Reserves & surplus
	2.00
	Stock
	1.50

	Long term Loans(11%)
	1.00
	Debtors
	1.00

	9% Debentures
	2.50
	Pre-Paid Expenses
	0.25

	Creditors
	0.60
	Marketable Securities
	0.75

	Bills Payable
	0.20
	Cash
	0.25

	Accrued Expenses
	0.20
	
	

	Provision for tax
	0.65
	
	

	
	12.65
	
	12.65


15 The Current ratio of STV Ltd. is -----

a) 3.75 : 1

b) 2.27 : 1

c) 1.81 : 1

d) 1.66 : 1

16 The Quick ratio of STV Ltd. is -----

a) 2.25 : 1

b) 1.36 : 1

c) 1.21 : 1

d) 2.00 : 1

17)The Debt : Equity ratio of STV Ltd. is-----

a) 1 : 1

b) 0.467 : 1

c) 0.636 : 1

d) 0.553 : 1

Answer Question  based on the following information.
How much time do students spend to prepare for a Statistics final exam? To answer this question, a random sample of 40 students was selected. The sample revealed an average of 5.5 hrs, and a standard deviation of 3.5 hrs.

18)The 95% Confidence Interval for the average number of hours that students spend preparing for a Statistics exam is -----.

a).  (4.00,  7.00)

b).  (5.42,  6.36)

c).  (4.42,  6.58)

d).  (3.45,  5.57)

19)If we recalculate the above interval using a 98% confidence level, the margin of error will -----.

a). Increase to 1.29

 b)Decrease by 1.29

  c). Remain as it is 

d) None of these

Answer Question  based on the following information.

The cash flow in respect of one project is given below. The Cost of Capital is 12%, 

	Year
	Project A

Rs.

	0
	(200)

	1
	60

	2
	60

	3
	60

	4
	60

	5
	60


20)What is the NPV of Project A (in Rs.)?

a) 216.29

b) 16.29

c) 200

d) 182.24

21)What is the Profitability Index of Project A?
a) 1.30

b) 1.08

c) 1

d) 0.91

22)What is IRR of Project A?
b) 15.24%

c) 14.24%

d) 16.24%

e) 14.50%

General Bank Management

International Banking

Read the following case carefully and choose the answer which you consider to be the most appropriate to the issues raised therein. 

A firm(exporter) is dealing in exports of Shrimps. It approaches the Dynamic Bank for granting credit facilities with estimated sales of Rs. 100 lakh during the year. The Bank sanctions PCL of Rs. 50 lakh, with 25 % margin on FOB value, and post shipment credit with margins on bill amount of 10 % on FBP and 20 % on FUBD. 

The firm gets an order for USD 50,000 CIF, for exports of shrimps to UK. On 1.1.2005 when the USD/INR rate was Rs.44 per USD, it approached the Bank for releasing PCL, which is released as per terms of sanction. The firm gets the PCL, and ships the goods.

On 31.3.2005, the exporter submits to the Bank, export documents, drawn on sight basis for USD 45,000 as full and final shipment against the order. The bank purchases the documents at Rs.43.85, adjusts the PCL outstanding and credits the balance to the firm’s account, after recovering interest for Normal Transit Period (NTP). 

The documents are realized on 30.4.2005 after deduction of foreign bank charges of USD 450. The bank adjusts the outstanding post shipment advance against the bill.

Bank charges interest for PCL @ 7 % upto 90 days and, @ 8% over 90 days upto 180 days. For Post shipment  credit the Bank charges interest @ 7 % for sight documents and @ 7.5 % for D/A documents upto 90 days and @ 8.50 % thereafter and on all overdue interest  @ 10%. 

23 What is the amount that the Bank can allow as PCL to the exporter against the given export order, considering the profit margin of 10% and insurance and freight costs of 12% ?
a) Rs. 22,00,000  

b) Rs. 16,50,000 

c) Rs.14,85,000      

d) Rs.12,87,000   

24 What is the amount of post shipment advance that can be allowed by the Bank under FBP, for the bill submitted by the exporter?
a) Rs.19,80,000 

b) Rs.17,75,925   

c) Rs.19,73,250   

d) Rs. 21,92,500 

25 What will be the period for which the Bank charges concessional interest on DP bills, at the time of purchase of bill?

a) 90 days   

b) 25 days  

c) 31 days  

d) Up to date of realisation 

26 In the above case, when should be the bill crystallized, if the bill remains unrealised for over two months, from the date of purchase (ignore holidays)?
a) On 30.4.2005    

b) On 24.4.2005 

c) On 24.5.2005     

d) On 31.5.2005

27  What rate of interest will be applicable for charging interest on the export bill at the time of realisation, for the days beyond Normal Due Date (NDD)?

a) 8 %        

b) 7 %     

c) 7.5 %    

d) 10 %

Human Resource Management

Read the following case carefully and choose the answer which you consider to be the most appropriate to the issues raised therein. 

A public sector bank was going in a big way to adopt IT to meet the challenges posed by the new generation private sector banks. The initiative would improve efficiency, customer service and introduce many computer-supported products/services. The bank has engaged a reputed IT company to implement the core banking solution (CBS) across the branches. The software was tested well in some of the already technologically advanced branches. Before implementation of the CBS, Business Process Re-engineering was undertaken to match the processes to the requirements of the software. While implementing the same at the branch level the software did not work well, not because of any technical problem but the acceptability of the new initiative at people level. The branch managers in some of the semi urban branches who were not having adequate IT skills were of the view that the implementation of software will not bring any major advantage to the bank. They were also having a feeling that after implementation of software their importance in the branch will get reduced. Some of the employees working in such branches also endorsed these views. There was also an apprehension that the implementation of software will reduce the staff requirements in these branches. The implementation of software was therefore getting delayed.  

28 The main issue to be dealt first in such situations relates to -----.

a) Attitudes of people 

b) Training of people

c) Group behavior

d) All the above 

29 In such a situation what is the role that HR professionals can play?
a) To be a part of implementation team

b) To act as coordinator/ facilitator in the entire change management process 

c) Since it is a technical issue, HR professional has no role to play

d) Issue guidelines for time bound implementation of project

30 To deal with possible staff resistance the bank should -----.

a) Educate people about the benefits of the initiative to all concerned through effective communication

b) Provide thorough training to the staff through conducting workshops

c) Review the role of branch managers, and replace wherever necessary with the officers having positive outlook

d) All the above 

31 For a time bound implementation of the project, which of the personality characteristics of the branch manager will be most suitable?

a) Type B personality

b) Type A personality 

c) Depends upon the situation

d) None of the above

32 Which of the needs (under McClelland theory of motivation) is most satisfied while successfully implementing the project?
a) Need for affiliation

b) Need for Power

c) Need for Achievement

d) None of the above as it is a mechanical and routine job

Technology Management

Read the following case carefully and choose the answer which you consider to be the most appropriate to the issues raised therein. 

Information System (IS) Audit was going on in a fully computerized branch of a nationalised bank. In the preliminary check during the day begin one of the IS auditor found that number of users active in the system are more than the staff strength of the branch as per the attendance register. The auditor was informed by the Database Administrator (DBA) that one of the user-id is for software engineer, who is required to do maintenance work in case of need. One more user-id is of ex-DBA of the branch who was in the branch since the beginning of computerization but has been transferred from the branch to the Regional Office in the previous week. The Regional Office was very close by and in case of need, ex-DBA unofficially visits and carries out the required operation with his old user-id and password and helps the recently posted DBA. Further the auditor found that the server room is kept open and is being accessed by all.

The DBA appraised the auditor about the co-operation extended by every staff for computerized environment. During IS Audit, auditor found that the computerized operations are very smooth and even CTO can do the day begin or day end, if DBA is busy in some other work.

33 User-id and password of software engineer should be -----
a) Generated and kept for maintenance purpose.

b) Generated in case of need and deleted when job is over.

c) Non-system generated. 

d) That of DBA because software engineer requires high level access.

34  Server room should be accessed by -----
a) DBA only.

b) DBA and Branch Manager only.

c) Only those staff, who are working on computer.

d) Only those staff who enter every access in a log book.

35 day begin and day end activity should be done by -----

a) DBA only.

b) Authenticated CTO only.

c) Branch Manager.

d) Software engineer who has been assigned the Annual Maintenance Contract.

36 To prevent possibility of the fraud at the branch  -----
a) The duties of the staff should be segregated.

b) No additional users other than staff of the branch should be allowed access to the system.

c) Ex-DBA should be stopped from operating on the branch system with his old user ID.

d) All of the above.

37 Ex-DBA should be -----
a) Continued to operate with his old user-id and password till the present DBA is accustomed with new assignment

b) Disallowed to operate since he has been transferred

c) Allowed to keep his user-id and password, but should work in absence of present DBA

d) None of these

Marketing Management

Read the following case carefully and choose the answers which you consider to be the most appropriate to the issues raised therein.

XYZ Bank, which has a limited network of branches across the metros, decides to enter the credit card business. Developing the ring product is very crucial for XYZ Bank as the market is already flooded with a number of cards which are fighting for the 300 million plus middle income families and the figure is swelling at a faster pace.

XYZ bank is aware that the product should include not just the card but a host of benefits that come with the card. After carefully studying the market, XYZ Bank finally comes out with three different cards aimed at three different segments. These cards are:

Gold

Executive

Classic

Besides this, XYZ Bank gained mileage over its competitors by coming out with a totally innovative concept in the credit card history of India, that is, Photo Card. Now every XYZ Bank card has the photo of cardholder, thereby reducing the chances of possible misuse in case of card loss. Though the customer’s liability is very limited in case of card theft and misuse, still the cardholder is very much worried of the possible misuse of cards. Thus, introducing the photo card has helped XYZ Bank improve the membership of their card.

The product development at XYZ Bank is a continuous process and the bank is  always on the look out for better ways to satisfy the customers. Continuing with this process, XYZ Bank wants to come out with another product called Cricket Card. They would launch this when cricket fever is in full swing during the Cricket World Cup to be held shortly.

                                             Eligibility Criteria         Gross Income (per year)

                                                                                    Salaried, Rs.60,000 and above

                                                                                    Self-employed, Rs.50,000 and above

                                                                                    Age should be over 21 and below 60

With all the fanfare of cards and sophisticated concepts of marketing, what the customer ultimately is bothered about is the benefits he is getting by owning a credit card. According to XYZ bank, credit card provides three core benefits or 3-Cs:

Credit

Convenience

Confidence

38 The product offering is the most crucial element in marketing of bank services. Each product passes through certain typical product life cycle. XYZ bank has entered the credit card business in ----- stage in its life span, hoping that it would lead to more revenue and increased volume of business.

a) Introduction

b) Growth

c) Maturity

d) Decline

39 Which one of the following market strategies would be more appropriate to XYZ Bank in improving its sale of credit cards in the market?

a) Market Penetration

b) Market Development

c) Diversification

d) All the above

40 Which key differentiator of XYZ Bank’s credit card has helped in increasing the membership of credit cards in the market?

a) Photo card

b) Cricket card

c) Gold card

d) Limited liability card

41 Which of the following would you consider as a shrewd marketing strategy of XYZ bank to boost the sale of its credit cards?

a) Launch of cricket card during world cup

b) Provision of three core benefits viz credit, convenience and confidence

c) Limited liability for theft and misuse

d) Introduction of Gold, Executive, Classic cards to cater to three different market segments

42 Given the branch network of XYZ Bank, credit card product can be sold effectively through ----- distribution channels.

a) Indirect channels-DSAs/DMAs

b) Direct channels-Branches

c) Electronic channels-ATMs

d) None of the above

For Key see below_

Answers the Questions.

1
C
2
A
3
C
4
C
5
D
6
C


7
B
8
D
9
C
10
D
11
D
12          C

13
C
14
C
15
B
16
C
17
B
18          C

19
A
20
B
21
B
22
A
23
D
24          B

25
B
26      
C
27
D
28
A
29
B
30         D

31
B
32
C
33
B
34
D
35
A
36          D

37
B
38
B
39
B
40
A
41
A
42          A
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